(1/Njet)dN/dz

Ratio to ATLAS

=
o
w

=
o
N

10

107t

1072

0.5

Rivet 3.1.10, = 1.5M events

Charged Patrticle z

7000 GeV pp Soft QCD
[ T I T I T I I | I I I T I T ]
= Momentum fraction z(track jets) —=
_ B ATLAS _
— —A— Pythia 6.428 370 -
_ - 8- Pythia 6.428 391 —
— Pythia 6.428 default 3
— —&— Pythia 8.308 default ]
= [ | | | | | L =
: T T T T | T T T T |:
o i
- i oA A A ‘ ol
WP ety Y 4 ‘.A L VA

FIETRES "E’ ] ‘ _
T /|
1 " 1 1 1 " | 1 1 1 " 1 |
0 0.5 1

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


